
 

E-71T1

DWM 36

GRAY 
PANTONE 6C

BLU 
RAL 5010

1 

57008182

57008183

57006109 
METAL SPRING  
BLACK PLATED 

CABLE 35 mm2

MARKED 

57006038          3m           Euro
Code            Length       Fitting

57006039          4m           Euro
57006130          5m           Euro

Technical Data 

Duty Cycle 35%           340A  CO2 
Wire                                 0,6 - 1,2 mm 

WELDING S.r.l. - SEDE LEGALE: Via Puglia, 2 - 46030 Bigarello (MN) 
UFFICI OPERATIVI: Via Don Minzoni, 6 - 40057 Cadriano di Granarolo Emilia (BO) - Tel. +39 051 763348 - Fax +39 051 773393 - www.grupposapio.it - welding@pec.sapio.it 
CAP. SOC. € 10.000 I.V. - Iscrizione Reg. Imprese di Mantova 07634250968 - R.E.A. MN-261028 - C.F & P.IVA 0763425096

DWM
36

5706046 57006714

∅ M6

28

∅ M8

28

57006042 57006040 57006041
2,5 mm

∅ 12

2,5 mm

∅ 19

84 84

2,0 mm

∅ 16

84

∅ E-Cu Cu-Cr-Zr
0,8 57006021 57006314
1,0 57006022 57006582
1,2 57006023 57006583

28

∅ M6

∅ 8

∅ E-Cu Cu-Cr-Zr
0,8 57006053 57006636
1,0 57006054 57006399
1,2 57006055 57006426
1,4 57006429 57006637
1,6 57006087 57006586

30

∅ M8

∅ 10

3 

57006044
PLASTIC 

32,8

4 

1 2 3 4 

57006043

- 57008304 Yellow Liner 3m 
- 57006536 Yellow Liner 4m 
- 57006537 Yellow Liner 5m

2C 2B 

2 2A 

57006733

57006277

57006163

57006263

mailto:welding@pec.sapio.it
mailto:welding@pec.sapio.it


WELDING S.r.l. - SEDE LEGALE: Via Puglia, 2 - 46030 Bigarello (MN) 
UFFICI OPERATIVI: Via Don Minzoni, 6 - 40057 Cadriano di Granarolo Emilia (BO) - Tel. +39 051 763348 - Fax +39 051 773393 - www.grupposapio.it - welding@pec.sapio.it 
CAP. SOC. € 10.000 I.V. - Iscrizione Reg. Imprese di Mantova 07634250968 - R.E.A. MN-261028 - C.F & P.IVA 0763425096

CODICE DESCRIZIONE	

57006038 Torcia	MIG	DWM	36	da	3	mt MIG	Torch	DWM	36	3	m

57006039 Torcia	MIG	DWM	36	da	4	mt MIG	Torch	DWM	36	4	m

57006130 Torcia	MIG	DWM	36	da	5	mt MIG	Torch	DWM	36	5	m

57006043 Corpo	torcia	36 Swan	neck	360

57006187 Spirale	oCone	per	guaina	piccola Brass	small	spiral	liner	1,6-4,4

57008105 Spirale	oCone	per	guaina	grande Brass	big	spiral	liner	1,6-4,4	

57006044 Diffusore	gas	isolante	bianco White	plasCc	Gas	diffuser

57006046 Supporto	punta	oCone	M6 Tip	holder	M6	28L

57006714 Supporto	punta	oCone	M8	corto Tip	holder	M8	28L

57006041 Ugello	gas	conico Conical	nozzle	ø	16	mm		

57006042 Ugello	gas	conico	streCo Conical	spot	nozzle	ø	12	mm	

57006040 Ugello	gas	cilindrico Cylindrical	nozzle	ø	19	mm

57006262 Dado	di	raccordo	esagonale	 Hexagonal	nut	fiRng

57008183 Impugnatura	 Handle	set

57008182 InterruCore	micro	 RED	Trigger

57006109 Molla	anteriore	/	posteriore Metal	spring	front	/	rear

57006163 Connessione	centrale EURO®	connector	spring	pin

57006277 Ghiera	di	blocco	 Clamping	nut	

57006733 Kit	scatola	posteriore Rear	housing	kit

57008304 Spirale	guidafilo	GIALLA	3	mt	 Liner	3	m	YELLOW		ø	0,9-1,2	mm

57006536 Spirale	guidafilo	GIALLA	4	mt	 Liner	4	m	YELLOW		ø	0,9-1,2	mm

57006537 Spirale	guidafilo	GIALLA	5	mt	 Liner	5	m	YELLOW		ø	0,9-1,2	mm

57006165 Guaina	teflon	nera	1,0-1,2 Teflon	core	liner	1,0-1,6

57006647 Guaina	teflon	nera	1,2-1,6 Teflon	core	liner	1,2-1,6

57006263 Dado	ferma	spirale Liner	nut

57006292 Nipples	per	guaina	teflon	piccola Nipple	for	small	teflon	liner

CHG05052 Nipples	per	guaina	teflon	grande Nipple	for	big	teflon	liner

CU Ugello	guidafilo	M6*28	 Contact	Cp	M6	*28L*							Tab.2	-	Pag.1	

CUCRZR Ugello	guidafilo	M6*28 Contact	Cp	M6	*28L*				Tab.2A	-	Pag.1

CU Ugello	guidafilo	M8*30	 Contact	Cp	M8	*30L*					Tab.2B	-	Pag.1

CUCRZR Ugello	guidafilo	M8*30 Contact	Cp	M8	*30L*				Tab.2C	-	Pag.1	

mailto:welding@pec.sapio.it
mailto:welding@pec.sapio.it

